20 = D : —
o E = E
¥ 10 ESE
S = §$§ median = 5.003 ug
B Y ==
0.15—— T | —
2 o1 e 3= = median = 0.115 Hz
QOB = —
sams2, 12105006 at JPM1F5, ER4, Drawer 2:[466.80 ~292.06 214.58] .
142.0000 sa/sec (6.00 Hz) SSAnalysis[ 0.0 0.0 0.0]
Af=0.002 Hz, Nfft = 65536 sams2, 121f05006 Hanning, k = 727
Temp. Res. = 38.986 sec, No = 60000 Start GMT 04-March—2014, 063/08:00:00.000 Span = 7.86 hours
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Y-Axis PSD Magnitude [quo(glez)]
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08:00 09:00 10:00 11:00 12:00 13:00 14:00 15:00 16:00
GMT 04-March-2014, 063/hh:mm om: ims, 06-Mar-2014,05:26:32.432
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